e

TV =R lr =R

& HEREERe — RS
. B#EEy P NGP1010TX
EM# NGP1010T—N  |=4# FDCVP2803HO =°
W R410A
B R AC200V =48 50Hz /60Hz
EREE ! ERARE =2
=P kW 28. 0,28. 0 25. 3/25. 3
HEEH kW 5. 689,/5. 73 5. 70,/5. 70
cCOoP 4. 92,/4. 89 4. 44,/4. 44
EEER A 17. 7/17. 7 17. 6,/17. 6
EER SR % 93,93 93,93
= IR E & c 7~30
HEBYE A 5
& RKEM A 37
A& n°/min 114113 & 220
. EEVEHS W — 144X%X2
il B EEIE Pa 0 (BX:150) 0
TTF AT - WY Fa L Rl L F —
EfERE - BRI E S KW — 4. 7
B ERE HELIA 7R AT —
SFg~Fr E8 | mm 1780X974X560 1080X1675X480
A NF—T A K REvaiRTA k
BEHE [ ke 203 205
HE R B ANAZY v Fil#8 (NT—650) , BEEZ>¥— (HUS—1 2)
BREBHEE, BABAE
R . ERNEER o12. 7 (A5 BL&E $12. 7X0. 8
EAEERE o1 2. 7 (ZL7T)
=R 3 25. 4 (A5 K 25. 4x1.
\ " TR BLE mm gﬁﬁgg 225.426;H; e ’ o
HIELE EEmR_| 95T
& & R B3OLUT (BH==y "B TFTOHEEITL 5HUT)
B 3410Amﬁﬁ}1.5kg(§%)
EBNE: 5SmEBXL5ES 120g,/m
BEEE O dB (A) 69 | 509
EEBEESN [N 2. 77 (BEHABRECESSEREIIFTE)
BRETES MPa WES: 4. 15 EESH: 2. 21
B85
EREE kVA 12. 8
WA & A 50
IREE TR BEEW mA 100
B {ERFR sec oO. 1UTF
EAR A ENTEE AR A 50
. .Sjtéxz’:& 14. 0 mm®’X 34&
ERER & 5= | R 18
SRS | KE XA VCT 2. Om’X 3% (70m¥ET), 3. 5m’X3%4& (1 20nET)
T —R KEXFRY 5. 5 mm’XM6
MM OEMN 1 0 OnBlNDOHEE 0. 7 5m’X 3L — Kk
HEEERERR T 100mEBXAHEAE : 1. 25m’X 30— N
KIERFERE . NT—650556 00nlllNET 3

i

1.

ERBFEEIBIVERFEIL. BEEAKEIIBNT

() FARER=HEBRTREERSG [(ER: 1 5CDB., E4: 7CDB,

WWEVEELEETY., (DB : BREE., WB : BIREE)

. EREFERABLIVERKEIT. BEREREICIWNT

E=mEEBEG [ER: 2 7CDB,

ERNBORERIBABREOP a DEOETTY,
CREVREE /) 0oEROBEIERBAEESOH zE, FRIZ6 0OH 2BEDEELRLET,

. BEMEIR.

BB, EABRIAFEH S In, B 1ol TRAELEETT,
ENBOBRETEIIHLARBICLS. ZEMNE 1m, &S 1.

BRI, LTEABICERL T E S,

EABROERR (BRMERR) 3. BTEAEL LB T EW,

CEEZERINATY v FHEENT - 6 50 & EABKEHERS

ENBEHEERLZFESBEREZRLET,

CEXEESXEITERLET,

C ZEETEKRRSHE, OKAZESEIEFERES T, ARICEDLS

ERBIIRHO, FIEBRSEOREREKRTIETT,

bOTIEH ER/A,

6 CWB]

24CWB, 24 : 35CDB] XV EBELEETT,

BATH##HE (B8616) WERLXEOH»LRVWESBECCHELLETYT,

SmOEHETT,

B4 |2014. 03 31| HE

7Y =Sy lr—y

~

(Bt v b)) |RE |

i)

e B | ~

[z4c]

NGP1010TX =
HiEE = |467652A

Hih—tkzt=%1




